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The Question Paper will be given in the form of a Question Booklet. There will be four
versions of Question Booklets with Question Booklet Alpha Code viz. A, B, C & D.

The Question Booklet Alpha Code will be printed on the top left margin of the facing sheet
of the Question Booklet.

The Question Booklet Alpha Code allotted to you will be noted in your seating position in
the Examination Hall.

If you get a Question Booklet where the alpha code does not match to the allotted Alpha
Code in the seating position, please draw the attention of the Invigilator IMMEDIATELY.

The Question Booklet Serial Number is printed on the top right margin of the facing sheet. If your
Ouestign Booklet is un-numbered, please get it replaced by new Question Booklet with same
Alpha Code.

The Question Booklet will be sealed at the middle of the right margin. Candidate should
not open the Question Booklet, until the indication is given to start answering.

Immediately after the commencement of the examination, the candidate should check that
the Question Booklet supplied to him/her contains all the 100 questions in serial order. The
Question Booklet does not have unprinted or torn or missing pages and if so he/she should
bring it to the notice of the Invigilator and get it replaced by a complete booklet with same Alpha
Code. This is most important.

Question Serial No. 1 to 70 are printed both in English and in Tamil. Doubts regarding
the meaning and translation of Question Serial No. 1 to 70 will be settled based on the
Questions in English.

Twok blank pages are provided before the last page of this Question Paper for rough
work.

Please read carefully all the instructions on the reverse of the Answer Sheet before
marking your answers.

Each question is provided with four choices (A), (B), (C) and (D) having one correct answer.
Choose the correct answer and darken the bubble corresponding to the question number
using Blue or Black Ball Point Pen in the OMR Answer Sheet.

Each correct answer carries 1 mark and for each wrong answer 1/3 mark will be
deducted. No negative mark for unattended questions.

No candidate will be allowed to leave the examination hall till the end of the session and
without handing over his/her Answer Sheet to the Invigilator. Candidates should ensure
that the Invigilator has verified all the entries in the Register Number Coding Sheet and
that the Invigilator has affixed his/her signature in the space provided.

Strict compliance of instructions is essential. Any malpractice or attempt to commit any
kind of malpractice in the Examination will result in the disqualification of the candidate.
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1. Which of the following statement is/are correct about Portuguese ?
l. Albuquerque captured Goa early in 1510.

[l. By the inspiration of King Emmanuel of Portugal, Vasco da Gama tries to discover
an ocean route to India.

[ll. Under the Portuguese, Cochin rapidly grew into a large and flourishing town,
and during their palmy days, it was, after Goa, the finest and the largest city on
the Malabar Coast.

A) I, Il and I B) Only land Il
C) Only Il and Il D) Only I and llI

2. Which of the following statement is correct about Marthandavarma ?
|. Marthandavarma defeat Dutch in the Battle of Colachal in 1741.
Il. Travancore and Cochin make friendly relation by the treaty of Mavelikara in 1757.
[ll. The title Mandapathu Vattukal is given to Army Headquarters.
A) Only land Il B) I, lland Il
C) Only I and Il D) Only Il and Il

3. Which of the following facts are correct about Vaikkam Sathyagraham ?
I. E.V. Ramaswami Naykkar arrested in connection with Vaikkam Sathyagraha.
Il. The Vaikkam Sathyagraha continued at the time of flood, 1924.
[ll. The Legislative Assembly voted 1925 Feb.-7, supported 22 persons and rejected

21 people.
A) Only I and llI B) Only land |l
C) Only Il and 11l D) I, Il and llI

4. Facts relating to Civil Disobedience Movement.
|. Gandhi declared non-violent struggle for Purna Swaraj.

[I. Gandhi’s Dandi March (12 March — 06 April) from Sabarmathi to Sea through
the heartland of Gujarat.

lll. “You planned a fine strategy round the issue of salt” Nehru would admit to
Gandhiji in February 1931.

A) Only I and Il B) Only Il and llI
C) Only land Il D) I, Iland Il
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1. CumiggG@wiir upp) L96TauhLD FmpPmiFailey 615 Fhlwimeg ?
l. <ev0)%i% 1510-Qev Camauneneud ensLiLpmleTi.
Il. Gunidsased westeri @ ibomeyyGoauadernr o &Gausssme, aumev CHTLSTLOM
@BFwralln@ s eauflenwd setRLgGS LPWDHRSSTI.

. Cumisg&Pwiseller BLp, O\&mFe allengeuns e QLM Lopmitb CMFLAIILITGS FHILOTS
aTihssl, Coaid deuisefle gL & s1ewdGe0, s Casmeumeyd (D515
QB35S LTt SL_pasaguiled sFADGS wPmid HSLIC LMW pEHILD.

A) I, Il and IlI B) Only land Il

C) Only Il and Il D) Only I and Il

2. LAiSSIenTL_euiomealll Lupmlw L96TapLd Fmhmiseiey 615 Filwmerg 2
l. wmigsrewr_euiom 1741-@Qev Gerdaed Cumied L dadbsrgisenar CHamHEHLy ST
Il. 1757-Qev onGeucdldasim LiLIbsSF 6T epevid B (HallFmEIg (5d@Lb ClsT1FFS@LD
BLLD®| GIDLIL L ).
. e 11dg) aungssH6d 6Tan SenevliL] @)ITeIald SLDIIGSDHD G,

UPBISLIL (DB DS
A) Only land Il B) I, land Il
C) Only I and Il D) Only Il and I

3. ®@adsb FSHWTHgsd LPPlw LIeTaUHLD 2 BTenLoEHaN6 6TdI FMWITCTS 2
l. eeussd #6SwnBpsid G _iungs EN. grwsnd) prussi ensg) OFuwiwiin L mi.
Il. eweussid 6Pwn&gsib1924- g 1b gy e Oeusrarts GlLps&Her Gringy
OB TL_ iS5
. #_werpib 1925 gl 7 yesimy eundsefldsFev, 22 pLiser 5 MssetT
wpmitb 21 Cueny Blonsfggeri.
A) Only I and Il B) Only I and II
C) Only Il and IlI D) I, lland Il

4. Gpringuinedid @Quidsib CFTL_TLITGST 2 GESTEHLOEGIT
l. Liewtm eveugnegedans 155 G benss Curgnl L s yplalldsmi.

Il. smp@ulesr sevsry yessflou@Liny (Lomid 12 wpsed ertiged 06) FLii@ulled)mbs
GRITSHGT LOWLILIGS) UPITE HL_60 T BL bS5

. “o Ly 9rsRewestenwd LpP) BEIS6T (5 FAwpE 2 SFHewwd FL L 1O teiger 1931
geufuiied smp@ e b Cwp eL1Ls 6% messL_mi.

A) Only I and Il B) Only Il and Il

C) Only land Il D) I, lland Il
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5. Consider facts relating to Social Institutions and Reforms.

|. December 4, 1829 declaring the practice of Sati or burning or burying alive the

widows of Hindu illegal and punishable by criminal courts.

[l. The raising of the age of marriage among the educated classes affective largely
due to education, economic pressures and the break-up of the joint family
system.

[ll. The British Government followed the policy of non-intervention in regard to caste
and family and changes that have marked these institutions are attributed for the
most part not to any Governmental action but factors of a sociological nature.

A) I, lland Il B) Only Il and Il
C) Only I and Il D) Only land I

6. Consider the following statement relating to Mughal art and architecture.

I. Akbar constructed Fatehpur Sikri the dream model of Qublaikhans palace in
Xanadu.

[I. Jahangir started Indo-Islamic baroque style.

[ll. The Moti Musjid at Agra was constructed by Aurangzeb.
A) I, 1l and I B) Only I and II
C) Only I and Il D) Only Il and llI

7. Facts relating to cause of French Revolutions.

I. In France there were certain in direct taxes which were collected not by state
officials, but by private individuals or companies.

Il. The clergy the Rome Catholic Church formed the first order in the State. It was

rich and powerful. It owned probably a fifth of the land of France.

lll. The revolution was not caused by the Philosophers but by the condition and
evils of the National life and by the mistakes of government.

A) Only I and Il B) Only Il and IlI
C) I, lland Il D) Only land I



71/24 -T

5. geps Hmieietsiser wpmid GG (hSSEIS6T OBTL_TLITGT 2 GTeOLDS6Nd: &61GS IL|BISGT.
l. wabui 4, 1829 Qpgisseller &5 s alFSMeUE®GT GTHLILIG HeOeVH
2 et yengliug UL alGrrswners erein yPlalds &mpHoadlwed
BB etpmigertey Oeuefu i L g).
Il. sevadl, CuTBaTISTT (PSS BIFHET LOHMID Fnl’ (HHGH@BDL (LpeDUIGT (LpHay
Cuneipeuppred QOufgib LTHSSLILBLLD LIYSsS au@GLiferen Cu & pLoest
QWG| 2 WITE).
. 9196y opamsisd G@LDLLD LoPpmILD FTHO\SIL_[LITS, Senevuil_1s5 CHTTenFEeLIL]
LGTLH YW oPpmitb @)euHmIeT LoAYDEISET ClLIBLLLITSYLD 6T5S0leuT (s yIFTEIS
BL_QULY FHEFHETTC) 6DV, LOTDTH FeLPHSHFGHT (QUIGOLITET HTTeSS STV FL_bSHSbTH

FnDLILI(H B GO GoT.
A) I, Il and IlI B) Only Il and llI
C) Only land Il D) Only land Il

6. wswrwisaier e HMI S 19L sFmew CFTLiLimer L96TeuhLd yPEmEeiid
6L GHT U 15135 GIT
l. s FerTRailed 2 6T &LIGHGVE TG 9 TeRTLOGHGSTUNGST H6sTay LOMS) M mest
oLICGH LT PG Alenws L 19 G,
Il. @anmsi&i @)5Csr-Qevevrblw LGynd Lnewflenwd O\Fm_miIG e,
. gysgmailed o erar GomG) wevgdlsd eyrBISFLiLITed SL L LU L g).

A) I, lIland Il B) Only land I
C) Only I and Il D) Only Il and IlI

7. 90 ges%E Yol SE&mes SIgesit O\FML_TLITGT 2 6EsTenLDSET.

l. Lgresr@ed @yus 9SBSTHFHGT VGVTLDG, H6sH|BLITHET VS| 6ol
Blnieuersisernted a@elssliuGib Cray aufsafleh Hev 2 erare.

Il. Gpmid 55C5m60%8 H(hFFeLIUleT &HLOTTHET LOTHVSHV (LpS6D euflenFeniL
2 (HUTSBHIGUTT. 9% LIGRISSTIITEALD FEFUMIbSSTE LD Q)bbSS. @)% LATTesiFes
BewsBe gped @ UGHWS CFIbSLOTS @USHGHSS-

. Cs8w eumpsbensuilest Blevev HMILD FOLOEHET LITL F $55I010TH HaTTCL
TDLIL_aN6VEO6V, LOMMTH YTFTBISSBGT SAUIMISTT GIDLIL L ).

A) Only land Il B) Only Il and Il

C) I, Iland Il D) Only land II
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8. Facts relating to UNO

I. The UN established close resemblance to the League of nations its initial
members 50 represented at San Francisco.

Il. The charter pledged the members to maintain International peace and security
and to cooperative in establishing political, economic and social condition
favourable to those objectives it forbade intervention in the internal affairs of
any nation.

[ll. At the Teheran Conference in December Roosevelt, Churchill and Stalin called
for “a world family of democratic nation”.

A) Only I and Il B) Only Il and Il
C) Only land Il D) I, lland Il

9. Consider the following facts relating to plastic pollution.

I. More than 400 million tonnes of plastics is produced every year worldwide half of
which is designated to be used only once of that, less than 10 percent is recycled.

[I. Micro plastics-tiny plastic particles up to 5 mm in diameter — find their way into
drinking water.

[ll. Some 11 M tonnes of plastics waste flow annually into oceans this may triple

by 2040.
A) Only I and Il B) Only I and Il
C) Only Il and IlI D) I, Iland il

10. Consider the facts relating to Central Information Commission.
|. Sri Heeralal Samariya, Chief Information Commissioner.

Il. The Central Information Commission has been constituted with effect from

12" October 2005.

[ll. The jurisdiction of the commission extends over all Central and State Public
Authorities.

A) Only land Il B) Only land Il

C) I, lland Il D) Only Il and Il
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8. UNO Qlari_iiLimest o 6tren Lo 6T

l. gresr presr@evCaraled LIS BEFSH0 LGSSLILIL L ST Y TLDLI
2 pinestiser 50 G saiesr 604 o L 651 CUB@HBIS L @DMIGHLOGHILI &9.[BIT
NN ITETR

Il. #i0uCss e wPpmib LrHSTUUL CUanaIgm @b, oIbs06larrm
Caas@e1 2 arallausmynisailey semawulHoaldsd Sl CFiISTR, bS
OCb1d:5 815 @155 FTSHLOTGST HTFWIGD, O)LITIBATTSTILD LOPMILD FoLpS [FleOGIGHLOHEHGIT
IDLGGSIISDEG @SSIOPLIL| QUPBIGUSDEGLD Q)b 1L eI ewT 2 mjL11 NesT issel
2 IS wefldseri.

. ebuMed pLps CL_aburer ABT 1960 ehavGlaUeOL FiIFFeO 96T avL_medles
‘oarpmus Cs55P6 2 0% G BILDLLD 616Tn ewLpLiL] al(hSSi.

A) Only | and Il B) Only Il and Il

C) Only land Il D) I, Iland llI

9. Wermavigs oL QOBmL_iLineT LIGTaIIHLD 2 GRTEHLOSEHGTE F6r6lL|BISGT.
l. 2 ovasaralled geibleurn Yyer@Bb 400 AeveSlwer L 651%@hdEGLD S %LDmesT

Qerraviyd 2 HLSGH OeFiwiLGFns, B uTH wi GG @EHLLEOD
w ®Cw vweaTu@®SSLILGLWD, 10 55695550 GLLD G®ODUTSE LODIFLPHF
AEITTINRIOL]Y TR

Il. mieoressii LRermavigd@ser 5 OIS @il L 1b Glasmessr APlw Lermevigd FiseTHer
G bBESHE 516D PGS

. e Casmmyib &iomi 11 hlevedlwett et Lammavig & &1 leyser OLIpBISL cvsHaTeD
umiigeper, @5 2040 &@6r eLpetiny oL BISTH B Hf% G LD.

A) Only I and Il B) Only I and Il

C) Only Il and I D) I, lland IlI

10. wEHw Fs6uch YeewTwid CIFTLTLITGT 2 GSSTENLOEE 6T &6LGH UL BISGT.
l. wf afgevned FoMwim, Fenevenio Fasaich gy ewenTiLi.
Il. 9$CL_muir 12, 2005 Q6v LSHW FFHaIcL YeRTUILD HYeOLOSHBLILIL (HETETS.

. opementd@padet HHHTT euiLbL] IeeTdgl oSG oHmIh omblev GlLing)
9FFTAFGT 0SS uNILD LITaNU|GTETS.

A) Only I and Il B) Only I and
C) I, lland I D) Only Il and Il
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11. Match List — | with List — Il and select the correct answer using the codes given

below :
List -1 List -1l
(Layers of Atmosphere) (Characteristics)
a. Stratosphere 1. Temperature decreases with increasing height
b. Exosphere 2. Aurora Borealis and Aurora Australis are produced
c. Troposphere 3. Contains much of the total atmospheric ozone
d. lonosphere 4. Atoms of oxygen, hydrogen and helium
Codes :
a b ¢ d
A) 4 3 2 1
B 3 4 1 2
c) 3 4 2 1
D) 4 3 1 2

12. The National Waterway 3 (NW3) of India stretch between

A) Sadia — Dhubri B) Kakinada — Puducherry
C) Kottapuram — Kollam D) Allahabad — Haldia
13. Match List — | with List — Il and select the correct answer using the codes given

below :

List -1 List -1l

(Satellites) (Country)

a. GOES 1. France
b. INSAT 2. USA
c. SPOT 3. Russia
d. Meteor -3 4. India
Codes :

a b ¢ d
A) 4 3 1
B 3 2 1 4
c) 3 4 1 2
D) 2 4 1 3



11.

12.

13.

71/24 -T

v qwed — | it guwed — Il @ o 16t Qunmpgayd wHpib 8 CsTRSsLILIL (BHeTar
G@OUIGS@erL) LweTLBSS FAlwnet LSmwd Csiinh0)sHdSaLb

L g uied — |

g uied =

(aueflLocusr_cv y(B)d%air) (L1GBsTL S 6T)

a. el gnGL_meviwrr
b. e14Cavmarvi it

Cc. L GunBumaviNwirr

d. wGsrmavi N

GDUIBHFeT :
a b c¢c d
A) 4 3 2 1
B) 3 4 1 2
C) 3 4 2 1
D) 4 3 1 2

1. 2 wmb YFsMs@GLd Cung GeuLiLiBlency G@DEH DS

2. 9Ggmgm Qumflwmellev wpmib Cumam gy evL” gredlev
2 (hUTH DS

3. Gwrss cuailoes_ev gGsmesiler ClLIhLLLIGS ews
Ol mevst (B 6iT6NG)

4. 9d60lgyett, L JeesT LoPmIh aujedlwiLb
TS FHATTC) 6T

@p@wraller CaFw Bieufl 3 (NW3) @eupmis@ @evulled Sevs(hereng

A) Fmguwim — g

B) sra@emmm — 515G

C) Gsa L ygib — O&mevevid D) wewsmumg — apmevig wim

v igwed — | wpmuib L gwed — Il @ CQunmdgiBiser wpmb &8 CsTHISS5L
Ll Rerer @GpluiGsearts LweTL(BH$S Filwmest LSemevd Csiih0)sHEsaLb :

L g uiey — |

(QrwmenssCHmeirHei)

a. GOES
b. INSAT
c. SPOT
d. Meteor -3
GDUIBHFeT :

a b ¢ d
A) 2 4 3 1
B) 3 2 1 4
C) 8 4 1 2
D) 2 4 1 3

L quiey — |l

(51®)
1. Sgmssrenv
2. 9QwMdsm
3. gauwm
4. QpBPwr
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14. Consider the following statements and select the correct answer using the codes
given below :
1. The Bhabar tract is a pebble studded zone.
2. The Bhangar represent the newer alluvium.
3. The Khaddar represent the older alluvium.

4. The Terai is a zone of excessive dampness.

Codes :
A) 1, 2 and 3 are correct B) 2 and 4 are correct
C) 1 and 4 are correct D) 1, 2, 3 and 4 are correct

15. Which among the following National Park is home to the largest population of
Lion tailed Macaques ?

A) Anamudi Shola B) Mathikettan Shola
C) Silent Valley D) Eravikulam

16. Which one of the following was the main theme of India’s twelfth Five Year Plan
(2012 -17) ?

A) Garibi Hatao
B) Faster, More Inclusive and Sustainable Growth
C) Growth with Social Justice and Equality

D) Poverty Alleviation and Industrial Development

17. Which of the following statement is/are correct about Reserve Bank of India ?
i. RBIl is a member of IMF.
ii. The Reserve Bank of India was established on April 1, 1935.
iii. Usha Thorat was the first women RBI Governor.
A) Only iand ii B) Only ii and iii
C) Only i and iii D) All of the above (i, ii and iii)

18. Which of the following taxes will be levied on imports under GST ?

A) CGST B) IGST
C) SGST D) All of the Above

A -10-
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Les1aupLd YPSeEsmand HhsH D Osresn®), G ClETRISSLILIL (HeTer
G@OUIGS@rL LweTLBSS FAlwnet LS mawd Csiih0)sHdSaLb.

1. LUt LTS Q@ Fniprmise LUSESLILL L oeTL_aoLb.

2. umiisit yBw yeiailugams SPSFDS.

3. &g Luepw yIeludams GBISFDI.

4. Qg e165TLIG) B SLILILGWITEST FTLILISSFGT (5 LDGISTL_GULD.
GDUIBHH6T :

A) 1, 2 wpmib 3 Fllwnesene B) 2 wpmiib 4 silwneseney

C) 1 wpmiib 4 sflwnestenae D) 1,2, 3 wpmib 4 sfwnesteney

Lesteupib 615 CsFw ymstalley Arisained GisiGser LOsL16ufu Osransuile

2 _GITANS.
A) yaipy Cagmeor B) w®0sL 1_mer Cagmevr
C) ewgevesrL aumed) D) @uoallgerd

@BGwraller LiciestgeT_meugy eopsmresst(® G gFesr (2012 —17) wpd@w
SLIGLITHGT L6T6uBeaUaTDBI) 615 2
A) &M apL_rGeur
B) Gousiones, Cogyib 9eneidensub 2 GTaTL_SHw LoHmILd BleOeOWITES aGTIFS
C) sops %) PHILD FLOSFIAISSIL G UGTTEE)
D) aumiew eifliiny wppib Csmplidgiemp GobLin()
@B w Maies eumG) Lupw LeTeupd YPEens 615 FRwmets ?
i. RBI, IMF o myi9euit.
ii. @QBpHw Maies eumiG) eriiged 1, 1935 yeirny Bloyeulii L g).
iii. 2apr CamyL” 1psed GlLiess MFie cum%) o EpHb.
A) Onlyiandii B) Only ii and iii
C) Only i and iii D) GuGev 2 diter yemarsgLb (i, it and iii)
GST-wlerr B1p QWéGHLH G Lieteaupd euflsafled 615 NG EHLILIRBILD ?
A) CGST B) IGST
C) SGST D) GuwlGe o ¢rer SyenarsgiLb

-11-
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19. Effective Revenue Deficit (ERD) equal to
A) Revenue Deficit minus Grant-in-Aid for Creation of Capital Assets
B) Capital Expenditure plus Grants-in-Aid for Creation of Capital Assets
C) Primary deficit plus interest payments

D) Revenue deficit minus interest payments

20. The report titled “The Indian Economy — A Review”, is an alternative of Economic
Survey 2024, is authored by

A) Krishnamurthy Subramanian B) Mr. Satyendra Kishore
C) V. Anantha Nageswaran D) Shri. S. Ramakrishnan

21. “The public agreements between citizens and service delivery providers that clearly
codify expectations and standards in the realm of service delivery”; identify the public

agreement.
A) Manifesto B) Citizen Charter
C) Constitution D) PIL

22. NSSO stands for
A) National Sample Survey Organisation
B) National Sample Selection Organisation
C) National Sample Survey Office
D) National Sample Securing Office

23. The Attapady Soil Conservation Project in Kerala is getting assistance from
A) The Japan International Cooperation Agency
B) The Danish International Development Agency
C) The Swiss Agency for Development and Cooperation

D) The German Agency for Technical Cooperation

24. NREGAsoft is related to
A) TISS B) NREGA
C) Keltron D) LBS

A -12-



19.

20.

21.

22.

23.

24.

71/24 -T

610%0s19 61 Olgaileiry, G _o%L96)" (ERD) @sm@ Fioiomesigy ?

A) aumeumss upprEGep SLPSFD PG OFTSHIGHEGT 2 (h6uTsHSHSM S
LomesliiLb- (Q)6ir-2 Fadl

B) epovgar OFavay 9arev cLpevsest OFTgeISHan 2 (56w TdE 6B M M6
woresflLhb - @) eir-2 Faldl

C) wpseitenn LPPISGHeam NeaT6v L' 19 &L L GwTLD.

D) eu@eumis Lupprs@geop sfissed aily Clowisgised

“@QB&Hw ClummeTngmgb — @b WUIey" eTeID FenevLieh OLiTpeTTSTT
Hew14 015 (D1 2024 &@ wappresT YyPlbas @)eugmed eT(LpSLILIL (HeTeng)

A) Smayerepid) oo ewflwic B) §®. #5Cwp5y &Cagmi

C) ail. yepasT prGseVIT6T D) wf. erav. pro&)HayewTair

“ &Ly L& &6 LoPMILD CFemev aULpBIEBITEEhSHenL_Guwmet O\Lng) @LILIbSEISET CFeneu
ULPREIHEIGY 2 GG GTH TLTTLIL ST LD STBIGaTU LD O)Fefleunsd &GmISF et ;
Qs OLING RUILIBSSDS 9I6HL_WTGTLD HTeST6 LD

A) GuoestlosQiavBr_m B) & g geir gmi i

C) wFwevenioriny D) 9gered

NSSO-er6i1L1g1 @15 DS

A) National Sample Survey Organisation
B) National Sample Selection Organisation
C) National Sample Survey Office

D) National Sample Securing Office

Cagermallest 9L L Liimg oessT LnGISTLLY S L b @&FeSBha 2 FalolLmn%ng)
A) gliunet #iouGss @agiaipLiL) Blpieueib

B) GLaflay sieuCsa GotbLim” (B Blmiauetib

C) 2900555 pmid @SFIPLILSHTET FHalav BlpiaeTLb

D) Qsmpleomi’ L @sgiaiplijssnat Cleioest Bmiauaih

NREGASsOft o 1 61 QFm_rijewr_wig)

A) TISS B) NREGA
C) Keltron D) LBS

-13-
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25. Which is treated as the birthplace of Human Relations Theory in Administration ?
A) Toyota Motor Corporation
B) Bell Labs
C) NASA
D) The Hawthrone Plant of the Western Electrical Company

26. Which Constitutional amendment restored authority of states to recognise the Socially
and Educationally Backward Classes (SEBCs) ?

A) 106 B) 101 C) 105 D) 100

27. Official calligrapher of Indian Constitution
A) Prem Behari Narain Raizada B) Ram Parshad
C) N.V. Gadgil D) Nand Lal Bose

28. Atrticle 248 of Indian Constitution deals with
A) Scope of executive power of the Union Government

B) Power of the Union Government to make any law with respect to any matter
included in the concurrent or state list

C) Special Powers of Prime Minister’'s Office

D) Power of the Union Government to make any law with respect to any matter not
enumerated in either concurrent or state list

29. Which State in India offered 50% reservation for women in local bodies for the first

time ?
A) Bihar B) Kerala
C) Karnataka D) Himachal Pradesh

30. S. R.Bommai V. Union of India case is related to
A) Article 356 B) Article 360
C) Article 362 D) Article 352

31. An Authentic book scientifically written by Koodiyattam
A) Hasta lakshana deepika B) Natyasastra

C) Natyakalpa drumam D) Thapathi samvaranam
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26.

27.

28.

29.

30.

31.
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@& plieunsgev wesfls 2 payser Camlum g6t Pl s $BSLILGF DS ?
A) QurCuim m Com L_mi smitiGragyest

B) Gue evmiiev

C) mram

D) Gun@ wer flnyeuesid@er an e mieT emev

FeLpss P seval) fHwrs LeisBSwu augliLsaer (SEBCS) wniGsMss
wrhlevnisafle 9SsTiSems LB 6L 9S8 61hF TP WeLDLIL] F(HSSLD 2
A) 106 B) 101 C) 105 D) 100

@bSw rFlweveniolifer P sTaLriLias CHedsamesLd
A) 9Cgib Cuamrd BCyest enggm_m B) gmb wiewns
C) ereir.adl. s &ev D) s ewmev Gumav

@B w syrRwevenioLifest 248 aug Lfey @LILIBSBISET Qs LPBIWLG.

A) wEPu o gFTBISSB ST Blicuns 9B ETIsF e CBrdsLd

B) %G1 Crus&ev sjeveva omblev i 19 wiedle Carigasi L 61bs0leun s alapwsS b
6ThB0leuTh FLL_Sewsu b OFuiw oGFw IFTBISSS 6T 9SS MILb

C) s Yy(eivssS 6T ADLIL] 9SS TIBISeT

D) @Gy Grus@ev evevgy omBlev L 1gwedled GPILII Lt 1% 6158 0)eump
aNapwis@n@Ld 610U s FL L densu b ClFuiul LoSF W 9 TFTEISSS 6T
QY FFMILD

@BPwralled 61hs LOMBIGULD (LPSED (LLEIDWITH 2 GTaTTL &) YenLoLliL|Fafleh o 6iTar

Clues@ps @ 50% @gisEamL aupBIGig ?

A) Ssmr B) Gsgerm

C) sipm_sm D) @umsgevrs 195CGsF1b

etav. . Gumbiomit V. wyesflwest p0st’t @QbSwTalles aulpdE 615e8)IL 65T
QB mTL_fiLemL_wig).

A) s pHeog 356 B) s ®eny 360

C) s ®eny 362 D) s ®ewg 352
Tl L $gme0 yPlaflwed fHWMs eTUpSLILIL L @(h 2 GBTHLDWTET LSSHHLD
A) anevs egspest SLlsm B) mrl g wismev® b

C) prigusedLs $pLoLh D) su% evibeugessLb

-15-



71/24 -T

32.

33.

34.

35.

36.

37.

38.

39.

Two Kerala visual arts have been included in the UNESCO heritage list.
A) Kathakali and Ottamthullal B) Theyyam and Koodiyattam

C) Koodiyattam and Padayani D) Koodiyattam and Mudiyettu

The team from which country always marches first at the opening ceremony of the

olympics ?
A) Greece B) France
C) Switzerland D) Host Country

Davis Cup is for
A) Cricket B) Tennis
C) Badminton D) Basketball

‘Nandanar’ is the Pen name of
A) P. C. Kuttikrishnan B) C. Govinda Pisharady
C) P. C. Gopalan D) R. Ramachandran Nair

Which is the first colour movie in Malayalam ?
A) Chemmeen B) Kandambacha coat
C) Balan D) Neelakuil

A ‘Sangam’ period work with reference to ‘Onam’.
A) Akananooru B) Chilappatikaram
C) Madurai Kanchi D) Periyapuranam

Who is the writer associated with the ‘Malayali Memorial’ ?

A) E. V. Krishna Pillai B) Kumaranasan

C) Bodeswaran D) C. V. Raman Pillai

The rescue operation launched by India to bring back the National Standard in Israel
during the Hamas-Israel conflict.

A) Operation Ajay B) Operation Vijay

C) Operation Bluestar D) Operation Hamas
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w)OlesravCaim LimgbLifw L 1gwedled CaridaiiLi (Reier @)ress(h) Cagar MG sencvdseir
A) sgsafl LoHMILD @L L LDF|6iTeT6D B) Gsuiwib wpmitb Fmiguim’ L tb
C) smyqwm’ L 1b opmith L1eHL_wicss D) smywm L ib wpmid wprgCuir” ()
@ReObLIGFe OFrL_ds allpralley e1Bs prl L& CFing oewi 61 1GLITS LD
Lpslev gyenflou@dsid CFwPma 2

A) @fav B) gneirav

C) sai  sievmbg) D) Gum geww mL_ggib Br®

Grallev Cariens @)bs allenaruml’ (hssmesg)
A) @Ms6lsL B) G)_siresflav

C) yliups D) smew_LiLipg)

‘BHSETTT eTeTLIG @)eufedt Lyenastls O)Liwi
A) 9. 8. oL 195 payeser B) &. Camallps ewmymig
C) 9. &. Csmumevesr D) wyi. gmwssn@uest pmwii

LOGOGWITOTS G (LpFGV GUGHTeRTS Fem Tl LD

A) QaibiBsir B) seiw_ibLidsr Gam (B
C) wmevesr D) fevs@uled

‘@aTLh LpPIL FEIS STl LenL LI

A) sprenIm B) @evii@smyib

C) wagiemg s16HH D) Quuwygresrid

‘wemewraf GoGomflwey’ QSmL_fyeL_w eTUpSSTaTT Wi ?

A) w. ). S peyesTieTenar B) @Logerramest

C) GunGsaveigest D) &. &f. grwesr Deremar
anLorev-QavGred Gongedles Gung Q@evGredley CsAw Fidens LOewsT(hLb
Osrewi® eug QBPwm CsTL_BISw 5L L) BL 611G e

A) oy LGrayeir gyl B) <ou1Grayer allgus

C) yLGraye LicapavL D) <oLiGuapaT apLomaw
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40. The new Vice Chancellor of Kerala Kalamandalam
A) Mrinalini Sarabhai B) Dr. Mohan Kunnummel
C) Dr. B. Anantha Krishnan D) Dr. S. Bijoy Nandan

41. Which memory is used to hold the ‘Boot up’ program in Computer ?
A) Read Only Memory (ROM) B) Random Access Memory (RAM)
C) Cache Memory D) Secondary Memory

42. Name the system software that converts a high level language program into Machine
language line by line.

A) Assembler B) Compiler
C) Interpreter D) Operating system

43. Which is the four digit Helpline number for reporting a cyber crime in the National
Cyber Crime Reporting portal ?

A) 1940 B) 1930 C) 1098 D) 1947

44. What does ICANN stand for ?
A) International Corporation for Assigned Names and Numbers
B) Internet Corporation for Alternative Names and Numbers
C) Intellectual Corporation for Alternative Names and Numbers

D) Internet Corporation for Assigned Names and Numbers

45. One of the popular online chat platform ‘Omegle’ has shut down its operations on
Nov. 8, 2023. Who is the founder of ‘Omegle’ ?

A) Sam Altman B) David R. Woolley
C) Doug Brown D) Leif K. Brooks

46. Among the following Indian scientists, who have been awarded the Bharat Ratna ?
i. Vikram Sarabhai
ii. A.P.J.Abdul Kalam

iii. Homi Bhabha
A) Only i B) Only i and iii
C) All of the above (i, ii and iii) D) Only i
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40. Csger seumoeTL_wEF 6T LB W g1enentGoubsT
A) wiflesstrefest] Fmgmimi

B) LndL it Gonseir @estegb6loed

C) gL i 19. eo1Bs B(1haycwies D) gL i erov. L9Cmut phs 6T

41. gesflesfluled ‘i 97 yCun&Hgnenio eweud @ (Hdbs 61hs GloioM Liwies
LBSSLILIBOFDSI.
A) L gaired Gl (ROM) B) Guer_1b ysgav Glowofl (RAM)
C) Gs4 Qoo D) Geser_M Qoo

42. 2 wiBlevev Glomfl Bloeme (mapGleveusd emms@Geagy LCrr&gmeoiw) QuibS T
QmPlwns (Goafles eomsiCaugd) euld@, eullwirs wapmiLb Sesslest) GlLocTO)LIT(HEHH @
OLiuiri.
A) o Cgibieri B) sibewiievit
C) @ewrmiQly L i D) <Gy’ 19 @ fevr b

43.

Casflw engFLir Genglb ypPldbeaasuil_ev Cumil L edeéb enFLi GDDSSLI
Y&TIefLILGDSTET BI6TE Qewss OlauneOLIGHEUGH 6TCHT 6T&] ?

A) 1940 B) 1930 C) 1098 D) 1947

44. ICANN e1ewsd @msH DS 2
A) International Corporation for Assigned Names and Numbers
B) Internet Corporation for Alternative Names and Numbers
C) Intellectual Corporation for Alternative Names and Numbers

D) Internet Corporation for Assigned Names and Numbers

45. Qguevioner gy eremevett Frl LiemmlLimib eesiny ‘Omegle’ wyger CFwebLim(hseamar
woutbLir 8, 2023 ety HlmysBuerengy. ‘Omegle’ Blmieuesti wirr 2
A) gmb gyev” Groesr B) CLaill” . a6
C) L& Ygeyesr D) &% Gs. Ljemsav

46. ereummid @QBF W adehehTestlsatley, wWrHE@H LMIS THEST QULPBISLILIL L & ?

i. @9&gLd FrgmmL
ii. er. L9. Cm. 91516056 ILD
iii. Gammd) Limum

A) Only i B) Only i and iii
C) Gulev 2 siter yewenggiib (i, ii and iii) D) Only ii
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47. The major science objectives of Aditya-L1 mission are
i. Study of Solar upper atmospheric (chromosphere and corona) dynamics.
ii. To demonstrate Safe and Soft Landing on Solar Surface.
iii. To demonstrate Rover roving on the sun.
A) Only iii B) Only i and iii
C) Onlyii D) All of the above (i, ii and iii)

48. Which of the following statement is/are correct about National Green Hydrogen Mission ?

i. To make India the Global Hub for production, usage and export of Green
Hydrogen and its derivatives.

ii. The Mission will lead to significant carbonisation of the economy, increased
dependence on hydro power projects.

iii. This will contribute to India’s aim to become Aatmanirbhar through clean energy
and serve as an inspiration for the Global Clean Energy Transition.

A) Only i B) Only i and iii
C) Only ii and iii D) All of the above (i, ii and iii)

49. Which of the following statements is/are correct ?
i. The Environment (Protection) Act was enacted in 1986.

ii. The Forest Conservation Act, 1980 was enacted to help conserve the country’s
forests.

iii. National Green Tribunal has been established on 18-10-2020 under the National
Green Tribunal Act, 2020.

A) Onlyiandii B) All of the above (i, ii and iii)
C) Only ii and iii D) Only i

50. Which of the following statements is/are correct ?
i. Scientists discovered a recently formed ocean inside Saturn’s moon Mimas.
ii. 3D printer creates brain tissue that acts like the real thing.

iii. The UN Climate Change Conference in Dubai, United Arab Emirates, closed on
03 December 2023.

A) Only i B) Only ii and iii
C) Onlyiandii D) All of the above (i, ii and iii)
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. PFwr-L1 uesflulest wpsFw yplalwey Gprdhsmiser
i. @Mw Gev eualer_ev (&CrmGwrevifwir wHmitb sGrrestn) @uidhsailiich
LpBIL 16
ii. @iw Cpumned LrgsmiiLre wpmb GloeTenLowrest $IulDssSS5 BlenLss.
iii. Gumeur @ Mwefled &Hmicuens BlemLIliLig,).
A) Only iii B) Only i and iii
C) Only i D) GuGev 2 diter yemarsgLb (i, it and iii)

48. GsHw usenip ewapl geeT @uidstb LPpPlw LN6TeubLd Fpmsefley 615 Filwimesg ?
i. LFLW DL JeesT LPWIh F6T euhldCHrepevEafler 2 HLISS), LIWLGTLIT(H
LPDILD TPDILLPEHFTRT 2 VSATTAIL HLOWILDTS QBSWTE® 2 (HeUTdH&%HS60.

ii. @bs ussilwmers ClLTBeTIZSTISSF 6T SessiiFLonet STTLICHIHDSDD S euLblelHsbEGLD,
B 1hest B L_migsefler L% 9S% FiL ()hdSLb.

iil. @& ariieoLoWITesT DO LPeULD YSLOBITLILDTS LOIDIUSDHTEST @)bSIITaNGT
CrrdssSmH@ LBISaNSEGLD PDILD 2 VSaTTAINL HTUIGHLOW TS HDDGD
LIHPSSH G 2-3Causons ClFwevL(HLb.

A) Only ii B) Only i and iii

C) Only ii and iii D) GuwGev 2 diter yemarsgib (i, i and iii)

49. 96reupLd FmpmiFeiley 618 FMwmess

I &OMIFEGLPeL (LngsmiLy) Fi b 1986 @ev @Quipmiiul L g.

il. euerls ungsmliyd F b 1980 B 19657 STRHSGTL LITGHIFTHE 2 Fa b U UTeD
Quppril L g.

iii. Casfw usewo Siiumuid #1°1b 202067 §1p 18-10-2020 ysirry CsFw LiFenLo
Gmiumutb Blmeulii’ L gj.

A) Only iandii B) GuwGev 2 siter yewenidgiib (i, it and iii)

C) Only ii and iii D) Only i

50. eteu@pd gpmisaflcy 61g Filwmeg ?

i. Fefludeir o LIS ITSTLOTGT L5LDTHSGH6T FLOLISHGO o (FauTest HL_emev aIl6hEhTes|H6T
H6T(HLILY &S GoTT.

ii. 3D LferL_it o (Beurs@Lb eLpeOTBHSSHET, 2 e Lowinetd GLme) CFWeLIBFDSI.

iii. 288w 9Ly e1tAGrL " erdlett HLIMUleD BL S @oBT FTHeE6 LOAHD LOTBHT(H
03 &bt 2023 6ty HlewnauewL bss.

A) Only i B) Only ii and iii

C) Onlyiandii D) GG 2 siter yemersgLb (i, it and iii)
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51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

Arun travelled 25 km 50 m by bus, 7 km 265 m by car and the rest 1 km 30 m he
walked. How much distance in kilometres did he travel in all ?

A) 33.345 B) 34.065 C) 34.345 D) 33.065

A student has to secure 40% marks in an examination to pass. He got 320 marks
and failed by 80 marks. The maximum marks are

A) 800 B) 1000 C) 1500 D) 1280

An article was sold at 10% gain. Had it been sold for 250 more, the gain would have
been 20%. Then the cost price of the article is

A) 2,500 B) 2,000 C) 1,350 D) 1,500

An amount deposited for 2 years at simple interest rate 10.5% will yield same interest
in 2 years if deposited for compound interest for 2 years (compounded annually) if
the rate of compound interest is

A) 9.75 B) 10 C) 10.25 D) 10.5

th
Sita reads 1 part of a book in one hour. How much part of the book will be read in

1

2_hours ?
5
10 15 11 11
A) 20 B) 20 C) 10 D) 20

6 men and 7 women can finish a job in 12 days while 2 men and 5 women can finish
it in 20 days. In how many days can 10 men finish it ?

A) 20 B) 22 C) 24 D) 26

P, Q, R and S start from the same point to walk around in a circular path, in the
same direction, around a garden whose circumference is one kilometre. P walks
5 km an hour, Q walks 4 km an hour, R walks 7 km an hour and S walks 11 km an
hour. How long will it take all four to meet again at the starting point ?

A) 3 hours B) 2 hours C) 1 hour D) 4 hours

2
The value of (—343)3 is
A) 49

1
® %9 49

How many balls of radius 2 cm can be made from a solid sphere of lead of radius
10cm ?

A) 25 B) 50 C) 100 D) 125

C) — 49 D)

If seven times the seventh term of an AP is equal to 11 times its eleventh term, then
the 18" term of the AP will be

A) 1 B) O C) 2 D) -1
-2,



51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

71/24 -T

9mesr CumppBev 25 &b 50 15, smilev 7 b 265 15, 6% 1 &S5 30 L5 BL_ b3
Lwesilggmi. GlorsssHev el eigsemat FCTBL L i o Lwessldsmi 2
A) 33.345 B) 34.065 C) 34.345 D) 33.065

Csiadley Cxidd Gl e Lomewteur 40% S 16 LeTsemart Clup Coues(BLb. e
320 wHLICueTHer CluPm, 80 WHICLGTFeTTL CHTevallwen L bsri. HYFHLL &
LB LICLIGHTSET 6TdSGTIWITS Q) (hSLD.

A) 800 B) 1000 C) 1500 D) 1280

@@ Qummper 10% ewrug@ed alnsiiul L g. @Gouemar g 250 &g allpsL
L 19 (ppsred, ewrub 20% s QBB HSGLD. e1eiley, bs ClLmmaier allenev
A) 2,500 B) 2,000 C) 1,350 D) 1,500

10.5% eraflw ey aNF$$Hd 2 YeT(hsErdb@ Ol LTHL OeFuiwiiin’
Clsrensiimesg), 2 eETBHSEbd:E Ll Haul 195@ (e® Commb Coigg) OLLimeL
Olaisme 2 yess(hseile HGF a1y FevL_d@Lb. Fal”(h) euL”1qullest aIESLD 6165168 ?

A) 9.75 B) 10 C) 10.25 D) 10.5

PO A . .
FFT (1 L|SB55F) 65T 2 LuGBenw eh et CrisHev L s al b &) ner. 25 LD Gl
CrisHev el LiSSSSBGH 616U LIGSeOWL! LILg LILImT?

10 15 11 11
A 25 B) =5 ) 1o D) o

6 Y ewrsenpLd, 7 Oueisesd Caibgl s Coauemevenw 12 Bl safleh (Lp1gsFpaigser.
Gz Couemevens 2 gy evsiger opmitb 5 Glueaseartey 20 prLsealleh (LpLgdds (LpLgufLb.
etastled, G35 Cousmevenws 10 gy ersartey e1dsenas BT Safled (LpLgdbsk (LpLYULfLD ?
A) 20 B) 22 C) 24 D) 26

P,Q, R wpmib S eresricuigser G Lyeitaflulled @)ibhs1 e(h eul’ L Lt Litenguled, Gr Hensuilev,
Rp OB LT spperey e Casml L gasd DY bLd&s OSTLEIGSTDaT.
P o wenfl Crrs5n@& 5 SIS pL_s@wmi, Q b westl CrisEn@ 4 G BL_sFwmi, Res
wessfl CrusHn@ 7 SIS pL_sFpmi womitb S e wewfl Crrs@n@ 11 SIS pL_sFwm.
Osm_dsL1 Lerefluileh Bresr@ CLpLd LEesT(HILD FhB 5% ereieuarey GhILb < @Ld 2

A) 3 wenflGpyLb B) 2 wenflGryLb C) 1 wenlGryLb D) 4 wenflGryib
2
(-343)3 @it @'ny 1
1 -
A) 49 B) 29 C) —49 D) 29

10 Q&8 b Osressi Fwd S st F_Lomest Caxmreng B el bhsl, 2 OVFLb 9yuib Clsmessr_
CISSMGET LIHHISGT 2 (heUTHS (LPLJUJLD ?

A) 25 B) 50 C) 100 D) 125

AP @ erpraug @evdas@er (Terms) eip oL mIgS%er, 9s6r LIS 0TI DIaIS]
w5555 11 1oL_BI$HS%@ Fowns @Qmbsred, AP @6 18aig wHliL) ereresalns
(h G LD.

A) 1 B) O C) 2 D) 1
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61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

Find the odd one among the following.

A) French Open B) US Open C) Wimbledon D) Davis Cup
Problem : Hypothesis : : : Prognosis. Fill in the blank using any one of the
options.

A) Condition B) Treatment C) Experiment D) Analysis

If RIDE is coded as 36 and DESK is coded as 39, then what will be the code for
RISK ?

A) 60 B) 57 C) 58 D) 56

Find the wrong number in the following series.
3, 10, 31, 90, 283.

A) 10 B) 31 C) 90 D) 283
At what time between 4 and 5 will the hands of a clock be at right angles ?
A) 38% minutes past 4 B) 3812_1 minutes past 4

C) 38% minutes past 4 D) 38% minutes past 4

The calender for the year 2025 will be the same for the year
A) 2031 B) 2030 C) 2036 D) 2033

Seven members are living in the family. Q is the daughter of P. B is the brother of R.
G is the mother in law of A. B is married with A. B is the uncle of Q. D is the father
of B. What is the relation of B with respect to P ?

A) Brother B) Sister in law
C) Brother in law D) Mother

Raju and Radha start from same location. Raju trace 5 km east and then 6 km
north-east. Radha trace 4 km south and then 4 km south-east. What is the shortest
distance (in km) between Raju and Radha ?

A) 10.80 B) 12.80 C) 13.45 D) 16.28

Six people are sitting in a row. Y is sitting between X and R. X is sitting next to Z.
Z is sitting next to P, who is sitting on the extreme left and Q is sitting next to R. Who
are sitting adjacent to X ?

A) Zand Y B) Pand X C) Yand R D) QandY

Four friends were sharing a plumcake. They decided that the oldest friend will get an
extra piece of cake. Ram is two months older than Raj, who in turn is three months
younger than Jay. Sam is one month older than Raj. Who should get the extra piece
of cake ?

A) Ram B) Raj C) Jay D) Sam
-24-
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LiesteupeuaTounmley alldSWTFLOTGT QRETenDd HETL_ P LD.

A) 9056 eLich B) werav gpLicir C) albLIeirL_cir D) Gradev GsmiiemLs

FEHD ¢ HhGICHT6IT : : wersesstiiL). aGseyih @k all(BLILISmSL
LweTLBHSS CeuPpML_geos BluLliLiayib.
A) Blupsenes B) 9@sews C) uMGenzenest D) u@liumiiey

RIDE eretriig) 36 erevreyib, DESK erestigy 39 erewrayid @mludl_cii 1 mev, RISK
GHTeST GHOUI® eTesIeToTS (Q)(HdHEHLD ?
A) 60 B) 57 C) 58 D) 56

Lesteu@pLd O1HmL_Med FRUDTGT 6T63T6n6uTd: HSTL_MUIaLb.
3, 10, 31, 90, 283.
A) 10 B) 31 C) 90 D) 283

4 oppib 5 @ Qe uilev 615%5 CrISHD @h HLYETISH T (LpL s6iT Ok Gs%TenTdF ey
OICEICT

A) 4 5155 96T 381_31 BIOIL_mB1%6iT B) 4 a5 196 38% BIOL_mig%eir

2
C) 4 3.5 91 38% BIOL_miger D) 4 sL_s L6t 385 BIOL_migeT

2025 gy1b YT HEHTT HTVGTL 1T, @Q)bS Yery D& @Gr LG Mwins @) @Lb
A) 2031 B) 2030 C) 2036 D) 2033

g 2miletiser @@ &@RLLUSH® euTpHeperi. Q ereiriig P uler wseir.
B erasticui R @)eir sCGanzpi. G erastieui A uiles omblwimt gyeumi. B erasmicui A eow
Swoewtib QFwigmi. Q adlesr wmom B gpeumi. D eretricui B uilesr gaLiLiermi gy eumi.
etesfled, P 2.1 et B 4@ erettan 2 pay 2

A) sCsxnsgi B) <o/cvtreust] C) eLogg)curet D) wbiom

grggeayib grsmeyd Gy QL_SHev Q)& OlTL_BIGRmriser. grege 5 Km &Sps&Heib,
Lesteeri 6 KM aur_Sps@auiib pL_sSpmi. grsm4 km QspFleid, Lesteri 4 Km 6lgeir
FpSHFILD L SFDII. gIgre6a s T1SM0bGHLD Qe _Gw o 6rer sk Geaphs
gnib (km) ereireer 9

A) 10.80 B) 12.80 C) 13.45 D) 16.28

m Cui euflewFwns i@ wmsEpmiser. Y ererueut X wpmib R 4@ @ewr_uled
Qipgererti. Z @& qwmBd X ywibgererti. L yeteui P &@ 9m&ed
I ABGeTarTi, Qeutr QL HUDSF D L Fwns I LinbS HLiLIeur, LopmLb
Q oyaeur R 8@ 91p%ev syoipgememmi. X &@& BBV LoAbSHLILIGITSET WiTT?
A) Z wpmiub Y B) P wmmib X C) Y wpmib R D) Q wpmib Y

BIGTE BSTLITSGT LamLd CadbenasL LG ihg Ol M6y (FBSETT. SeUTSaieh LG cLpSS
BTLI(55E Fa(hBe) CHd HlewL _d@GLD 616N eUTHET (LpLyaf ClFUISETT. FTLb, TTeHgY
QL (Q)T6T(h) LOMSBISET eLpdSauit, djeuri Oleuieow @Il pLPGTDI LDMSEISGT (Q)enamLicut.
FaLb grengaill @b LoSLD pssaul. dmBFew Cadbens wmi GlLp Ceussst(pLb 2

A) gmib B) o C) Glggus D) #mb
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71.

72.

73.

74.

75.

Choose the correct question tag.

Something happened at the college,

A) don’tit ? B) hadntit ?
C) didn’tit ? D) isntit?

Put in the correct preposition.

The programme starts 8:15am.
A) at B) in
C) on D) over

Choose the correct alternative from those given as options.

The Principal to speak to you.
A) wants B) wanting
C) is wanting D) was wanting

Turn the given sentence from active voice to passive voice. Specify which of the
following answer is right ?

Mary opened the door.

A) Mary was opened the door.

B) The door was opened by Mary.
C) Opened the door by Mary.

D) Mary has opened the door.

Identify the best way to express the intended idea in the following.
A) | like her childish face.

B) I like her child like face.

C) I like her face like child.

D) I like her face like a child.
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76. Identify the type of sentence.
What a super show !

A) Declarative sentence B) Interrogative sentence

C) Imperative sentence D) Exclamatory sentence

77. Use an appropriate article.

He didn’t get job he applied for.

A) an B) a

C) the D) none of the above
78. Michelle is than Natasha.

A) old B) more old

C) elder D) older
79. Ilook forward from you.

A) for hearing B) for hear

C) to hearing D) by hearing

80. Report the sentence.
Joshua said to mom, “| have been here”.

A) Joshua told mom that | had been there.
B) Joshua told mom that he has been there.
C) Joshua told mom that he had been here.

D) Joshua told mom that he had been there.

81. Complete the given sentence using a suitable phrasal verb.
| arranged to meet Tony in the mall yesterday, but he didn’t

A) fall off B) turn up

C) move in D) clear up

82. Find the synonym of the word, ‘amicable’.
A) cruel B) large
C) friendly D) simple

A -27-



71/24 -T

83.

84.

85.

86.

87.

88.

89.

90.

Which of the following word is opposite to the word cautious ?
A) reckless B) careful

C) slim D) beautiful

Which of the following is correctly spelt ?
A) catastrophy B) catastrophi
C) catastrophe D) catestrophy

Find one word for a person who has no money.
A) stale B) agile
C) passerby D) pauper

What is the meaning of the idiomatic expression, “round the corner” ?
A) very near B) difficult

C) spontaneous D) clear

Choose the compound word from the words given below.
A) table B) hallway

C) ceiling D) computer

What is the female tiger called ?

A) tigress B) ewe

C) calf D) tiger cub

A prefix is letters that come at the of a word.
A) ending B) middle

C) beginning D) top
Prepare the of your research work.

A) Synopsis B) Synopsees
C) Synopses D) Synopse
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91. @i e1ad1LISET QLITBEOTS F(hH5.

A) smwib B) &ypss C) mLawib D) mreins
92. G#igg 61(1psI% - LIFLD + @)enev

A) LFRemev B) un®emev

C) useduiemev D) udewsuienev

93. 19M3al e1(1p&IF : HeVLDLIGLD
A) sevib + LISLD B) seoiby + 9s1b
C) saib + ysLb D) se + bLisLd

94. FmIGGD CTGRTLISGT 6THTFOIFTCL H(H%.

A) @uoey B) wmremev C) usa D) afleseribesr
95. @uen, LeTenio Lenpupn CFTLii 618 2

A) ulevEH6T YLy aT, LDTGT STANLIS). B) wulevser o9 uwigy, et srades.

C) wullev gyige, Loresiser Srailiig). D) wuiled gpLgwig, orerser sraiwgy.

96. ‘Gar eretLIgesT GlLimpeT ?
A) aumeoip B) g C) Grmui D) w®ev
97. shwner eurs&w dyemiolileerer ClFTHODTL_ T 615 ?
A) Cusest ouileyd@Ls Cumieeuew ojefdsme.
B) Guser gyaflgamrer wulleys @ Cumieneuemu.
C) Gumieeusvw efldsmesr Cuser wulleyss.
D) Gumieweuenwi’s Cuser efligsmet oulleys .
98. gL 1gers evTLITGD, GlLIGSTLITGY OLIWiS®6Td &([h%.
A) saflmy, g B) s&i, ep®
C) Gaipev, Lewrm D) s®euett, p%
99. spmis ClBT(hSSTV YPley GHDWTE 6TTLIDS aleTd@Ld LiLpGILomy) 615/ 2
A) @ssmI5G BT LIFHF
B) wgwns wr@® uewilwng
C) wisamss@ LBaF (Lpenardsmed Fga LI
D) @ewmmis sesenieng Gleuerard C&messi(n) CLinsng)
100. Software ereirugeir sLllipsd GlFmed 615 2
A) 2 wrad B) Cs® O
C) @emennwiGleuaf D) GQLoest@)Limpeir
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